A

2 Name the river flowing through Bikaner district -

wnload Full Answer Key Click Here

When was ‘Tiger Project’ started in India?
(A) 1 March, 1972 (B) 1 March, 1973
(C) 1 April, 1973 (D) | April, 1972
d ¥ aa gidieer g ey @ g 47
(A) | ®rd, 1972 (B)y 1 =rd, 1973
(C) A atdm, 1973 (D) | am=, 1972

(A} None of the river (B) Kantli

(C) Mantha (D) Ghagghar

drr Paem @ warea €9 Al 59 & A R -
(K) @ wh T (B) g

(C) w=m " (D) wHT

3  -Kwashiorkor is usually observed among children
in the age range of -
{A) 6— 10 vears (By <1 year
(C) 1-4 vears (D) 4—6 years |
FTITEIT SHqﬂ'quTﬂEﬁﬁ?ﬂalrg%ﬁﬂTfrr‘ﬁT‘

ok -
(A) 610 af «Q.B‘{::]mf |
(C)y 1 —4=d (D) 4 -6 @ |

In which fort is the Sheela Devi Temple located? |

9

A wire is in the form of & circle of radius 98 i-:]“
A square is formed out of the wire. tht;s e
approximate length of a side of the SqUAr

(A) 136 em } (B) 98 em

b (D) 154 cm
(C) 152 em o H%Iﬁmﬁ

e 717 08 i P &
t{%aﬂawwtlﬂ’fﬁﬁqﬁ‘lﬁ'ﬂ%"'
k7

(A) lﬁﬁﬂ"’ﬁ (B) MBﬂ"ﬂ
(C) 152 & (Dy-154

: icine are
Which one of the following types of medicin
used for treating indigestion? i
(A) Antiseptic (B) Antibiotic

I
(C) Analgesic (D) Antacit
F‘rﬂﬂﬂﬁﬁﬂwﬂrq‘.’rmw ¥ Pram o &M

X7
(A) Frzrinh (B) wfedE
() weae

(C) drsrerd

Agni dance is performed by the men folk of which

sect of Rajasthan?

4
(A) Kumbhagarh (B) Amer (A) Bishnoi Sect
(C) Achalgarh (D) Mehrangarh (B) Dadupanth
fretr 21 a1 R o fae Mﬂ)ﬂﬁﬂﬁ & (C) Jasnathi Siddha Sect
(A) FHITE (B 3w (D) Ramsnchi Sect
(C) SaeTe (D) T e % e wEAE ¥ A geat wTa ot e i
A &7
g Value of V16129-is - (A) Fagri awe (v 2y
JT6129 & A ® - () aFne fﬂ"mtm TIEE F9ET
(AT 127 (B) 117
(C) 133 (Dy 123 \@/Vimzal and enlarged image of an object can be
obtained by :
6  Which language (dialect) is spoken in Bundi and (A) Concave lens (B) Convex mitror
Kota area? . (C) Concave mirror (D) Plane mirror
(A) Brij (B) Bagn . Cpt ag & S g Rraifa whsfiE ore Pear
(C) Mewati (D) Hadaut e
qﬂwmaﬂﬁaﬁmﬁﬂﬁfa‘lﬂimﬁ?? - S ,
(A) oA (B) ammét wigew & w0 (B) W zgw @
(C) . (D) el (C) agaa adm arw (D) woww = g
Which of the following fungus is used in bnkin@\fislmas Swaroopam’ (Statue of Belief) is statue
industry? gl e
(A) Morels (B) Black mold (A) Lord Shiva {B) Lord Ram
(C) Yeast (D) Mushroom (C) Lord Krishna (D) Lord Vishnu
i g 4 S w9 B g o e ¥ '‘Fygame =EgE’ B Wi &
(A) " (B) =% Wi _
; (A e fira (B) ar 1M
yzi’re (D) =gTEH
(C) wmam Fo (D) wrar feog

(g

IVVP ] cﬂ:
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@wﬁ is the famous

) (A) Pomcha

¥
Who among the followin g Folk-Gods is also related
o snakes?

(A) Gogaji (B) Ramdeyji

(C) Pabuji (D) Mallinathji
Frtifem 3 & v radam wim & W g 3
(A) Tmrsh (B) meadh

(Q umg (D) w=AFSh

Three numbers are in the ratio of 2:3:-{~und their
averzfgc 15 39, then the smallest num \::"' -

A ST 2:3:4 % orqwa F ¥ 3 s oA 39 2,
A 58 o s 2 2 S+

: iy

Eg -Saz AB): 15 b 'i'.lj
26 il

(D) 39 _ —

@ In ‘ﬁ'h_(lll:[ll one of the following civilizatfons bricks

were not used in making houses and colonjes?
(A) Ganeshwar {3y Nuh &3

(C) Kalibangan (D) Pilibanga
ﬁrﬁ%ﬁﬂaﬁﬂ'ﬂfﬂmmﬁ-mqﬁﬁmm
¥ €2 @ ya 4 = om?

(A) ToiegT (B) % <
(C) =mwiram () d=iEm ‘_g
™

“Baadla” of Jndhw‘_’

(B) Wood Temple A
(C) Water container made of zinc o)
(DY Zari Saree L

ey &1 wfes Cawe e A g

(AT T !

(B) @8 @1 #fT i

(C) =& § 71 U &

(D) =il @& N
N

Who is the first woman Director Géneral of
National Council of Applied Economit/Research

of India?

(A) Shobhana Bhartia
(B) Poonam Gupta
{C) Renu Sud Karnad
(D) Shyamala Gopinath
WITH & A9TF wrafle ams oenzE e fd #)

—

—

i

qEET Wik wElRiE A b7 i &
(A) g wefa oY
(B) 7T Tan =2
(©) T gz 7 N
(D) sauen MdE™ B

VWP gk

38

|

@p

41

42

. - j :
Il'h:lrl‘l is a factor ol x° + k2 —2x—24_ then
the value of & 18 -
gfy o + ke’ = 2x =24 & UF TGS (x - 2) B, W

k@ ad k-
5

(C) -2 e

Trench Commission was formed in the context of
which peasant movement?

{A) Bundi Movement

(B) Begu Movement il

(C) Bijolia Movement P

(1M Alwar Movemenl

fon faam a=iaa & wad 0 2 @ & e
e -

(A) g% am=etes

(B) &1 Fr=tem

(C) [y aZe

(D) #gt Hr=Ta

Ornaments of ‘Tarkashi® are famous of which
place?

(A) Udaipur (13) Nathdwara

(C) Chittorgarh (1) Barmer

A & A (WEr) FEN e b wiks ¥ 7

(A) F3a1 (B) Arwmm
(C) Faedizme (D) =m=wT

Who was appointed as the Rajpramukh of Greater
Rajasthan?

(A} Maharawal Laxman Singh

(B) Maharaja Sawai Man Singh

(C) Maharaja Bhupal Singh ‘

(D) Maharawal Chandra Singh

T3 T W g e Frga e v g
(A) werTas sz

) e ward oo

(C) wrrarm iy

(D) wErras aaftin

Rinku sells o 1
and e
Rochey
final o

able of costing price T 840 1o Sonu
& profit of 107 and Sonu sells it w
A loss of 59%. then what would be the
y ‘“‘:m"li price of the table?! :
ﬂﬂfi‘q; M';‘l P KI:-T_]' I el ill"l- h M “_ At
% *.-1;“;;, h“l'1r A 38 A H 5t @ ify qr Aa
(A} 7 t}‘:TI M Rerma e = Bl

A (BT T 877.80

AT (D) T 837.80
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51 Go through the following poem and answer the |€3) Which on¢

IVVP | o

question given below :
O Rose thou art sick,
The invisible worm,
That flies in the night
in the howling storm :
Has found out thy bed
Of crimson joy;
And his dark secrel love
Does thy life destroy.

According to the poet, the main idea of the poem
is :

(A) The beauty of the Rose is immorial.
(B) The poet praises the seeret lbve of the worm,
(C) Wicked people win the bartle.

(@) Innocent are helpless, they suffer and give up
their life.

The diameter of a sphere is 0.7 cm. From a water
tank, 3000 spheres completely filled with water is
thrown out. The volume of the water thrown out

22 Join our
is (\'\-‘]‘IEI’E n= *—_}-] WhGatsApp JOIN Now
roup
(A) 430 em?
(C) 530 em? (D) 439 em’

UF T w0 oA 0.7 W ¥ | UF U F E 8 3000
MR ot =9 8§ WTHT WA T FAH A E, 9 9T

Pt w37 o 3 (Win=2| (B

(B) 539 gt &1
(D) 439 g9 a@ '

(A) 430 5= &9
(C) 530 =7 &

Which of the following is the first coal based
electricity generating power plant of Rajasthan?

(A) Suratgarh Thermal Power Plant
(B) Kota Super Thermal Power Plant
(Cy Chhabra Thermal Power Plant
(D) Kalisindh Thermal Power Plant
fe W @ FE AT & UEe FEe HUE faea |
TrEA oS BT

(A) YTdTE A Tl wa
(B) iz gyy g & §EH
(C) wa=1 gndrg &A1 WA

(D) wffey A S T |

(2

is not view option 'in PowerPoint?
1

(A) glide show view

(B) Outline \'i_ew
(C) Normal view
(D) Glide sorter vfw

o B B ofercaisz @ @ faweq T R
(A) EES g ,
m‘lﬁ q Oi“ S JOIN NOW
EE; o i o
(D) wEE BT H

Second highest peak of Aravali is =
(A) Taragarh (B) Gurushikhar
(Cy Sergarh (D) Achalgarh
srraeh @ g waa S a9 -

(A) TS (B) it
JC) w3 (D) HaeTs

@ What is rank of [ndia in 'Climate Change

Performance Index (CCPI) 20237

(A) ot (B) 6"

(C) Tt (D) 8t _
ey uftads w2 gEw® (CCPI) 2023" Wit
@ Ym a7

(A) =i (B) =&

(C) wwdt (D) amedt
ﬁmwa@n'wmﬁﬂm%;
(A) weTaTES

(BT Tayamaras ;]
(C) wE-Iqas (D) Fomaras
Who is the current chairperson of the National
Commission for Women? (As on 18" December
2022)

{(A) Mrs. Rekha Sharma

{B) Mamta Sharma

(C) Lalitha Kumaramangalam

(D) Dr. Girija Vyas

g uftmn ardm # adar ors A ¥ 7 (18 Pnar
2022 & oA

(A) 4t Tmr gmt

(B) wen gt

(C) wiferem gramsremy

(D) =1 i e

Hemang Jaiswal of Rajasthan is player of
(A) Weight Lifting  (B) Kabaddi
(C) Judo (D) Boxing
TR & ko e

(A) wriwTem (B) waf

(€) 7@ (D) wrar
| Contd...
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product of Rajasthan at constant (2011-12) prices
during 2021-22 as per Economic Review 2021-
279

AT wier 2021-22 & 2021-22 § TR
& fre (2011-12) St v e g T 39T @

giv & T a ey
(A) 11.04 (B) -5.2
(C) 3.2 (D) 6.04

For a light ray travelling from denser (o a rarer

H . - . . g
medium, if angle of incidence is equal to the critical ‘ 59

angle, then the angle of refraction is :

wad e gray 8 nmm & 9t Ty & o
e & ford Wa anuam g1, wifas S & et 24
#, T AT i Ear #

(A) 180712 (B) 0°

(C) 45° (D) 90°

90
Which of the following is not correctly matched?
(A) Right to Constitutional Remedies : Article 32
(B) Protection of Discrimination : Article 13
(C) Right to Association : Article 19

(1) Right to Protection of Life : Article 20
F=iEs 5 o F9-\1 @ guiea ww 7

(A) "3uifre s9art & sfuwre @ sz 32

(B) 2uE B Al : erE 1S

(C) wa & Fobn F1 sfuwre @ arorg 19 |
(D) wi/E" & & & HET o IgwT 20

During whose reign did the Kishangarh style
receive an independent form?

{A) Raja Samant Singh

(I3) Raja Kishan Singh

{C) Raju Jagmal 92
(D) Raja Roop Singh
fomh smas e o feens S # Ey wmey e
gaAT?

(A) TN wrAftE
(B) T fwsmite
(C) = ST
(D) T w=aitE

What is the smallest and largest font size available
in font size'toolbar on formatting toolbar?

{A) 8 and 72 (B) 6 and 68

(C) 8 and 68 (D) 6 and 72

AT AT A a9 i ey T § auwey
AT ST AT B g b

(A) 8 37 72 (B) 6 afr 68

(C) 8 3t 68 (D) 6 afrr 72

IVVP |
T 0

o

@ What was the growth rate of gross state domestic (@ Air Marshall Shaikh Abdul Hannan was chief guest

at Graduation Parade of Flight Cadets. He is from-
(A) Iran (B) Afahanistan

(C) Dangladesh (D) Malaysia

war @iste §r arEE Fe GATEZ $EH @ AU
T ¥ qem wfafy 4@ ¥ -

(A) 3T & (B) g™ &
(C) aiamds & (D) wwfira &

The next term of the given series is -
3 g it &1 s 9 ¢ -
C, E H'W., Q7

(A) X (B) U
() v (D) W

Which of the following formula in [xcel is correct
to find sum of cell Al. A2. A3 and A4?
Prefaitaa 8§ @ vaEe daE Al A2, A3 it
A4 TR @ g wem % fao wd R T

(A} = sum (Al — Ad)
(B) = sum (Al to Ad)
{(C) = sum (Al; Ad)

(D} = sum (Al : Ad)

tf
7d | @ @t ar afuwrd S 93 o gg & Jam
T AM T WIN-YF 0 AT 8, IH HEd B —

(A) Fems (B) qfom=
(C) faafs (D) fafa=r

Which of the following blood groups is a
“Universal Donor'?

Prerfafm & & @ T mqE v e % 2
v O (B) A
(C) B () AB

What is the optimum temperature and

. . catalyst
required for Haber's process? )

(A) 300 C. Silver (B) 450 C. Iron

(C) 45°C. Tin (D) 150°C. Copper
z;&mﬂmwmmm e wrefy

(A) 300°C, foeat
(C) 45°C, fos

(B) 450°C, ama
(D) 150°C, ®ir
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48  Which lake does not exist in Nagaur district?

(@3 Which of fullewing districts of Raj:f#han is not
included in the first phase of Rajasthan Urban . - wana
Infrastructure Development Project? (A) Raiwasa (B) I‘:'u w
(A) Bikancr (B) Kota (C) Degana (D) Kuchaman
(C) Udaipur (D) Alwar i fr & g s R A 7
nmmmﬁnﬁ*ﬂfﬂﬁaaﬂmﬁwﬁg (A Yare (B) Erear
T Faame ftaiern & wad a7 i gftaferd TEl .

o & 7 (C) Emm (D) FEE
(A) T (B) e o
(C) F=qyt () mEt (fE’ State Human Rights Commission submits its annual
- report [0
Gj_:] Triplet codg, for inhibiting process of translation (A) Advocate General of State
is: aln . . el
L = 3 Ry National Human Rights Commission
mjaﬁnﬁbmi‘aw:rmamfaﬁlam%f tj} .
(A) UGGwio, (B) AUG (C) High Court
(C) UAA™ (D) UAC (D) Stale Government |
@ At the 68" National Film Awards on September wTaT
30. 2022 who was conferred with the Dada Saheb
Phalke Award? (A) TS Laiccanl
(A) Asha Bhosle (B) T wrTa ST S &
(1) Waheeda Rehman (C) wea < 2l
(C) Asha Parekh 7
(D) Lata Mangeshkar (D) T &N =
30 frmt, 2022 91 68 3 T2 e gy ¥ A
wEa weh YR 8 fiﬁ gl e n ? @ In the system of equations s
(A) s HiEA
(B) adi=T TFAH hx+my+m=0 =%
(C) smm i@ lyx+myy+n,=0
(D) T Tt SE
L m n
if L=z—Lz—L i li
@ Ebony trees are found i forests. Lo omy, ny ten lines represented by
(A) Mediterranean SIE LRSS T
(B) Tropical Evergreen ¢quations are —
(C) Monsoon Deciduous (A) Intersecting (B) Parallel
{DJ‘ Conical Ewrgrccl] . (C) Coincident (D) Perpendicular
Tfﬂ’f-ﬂﬂ&?__' @ H ] e B
(A) HIRTTG
(B) FwrsfeddE HIEET hx+my+n=0
(D) sigard HIEEN -
~ / n n
My = g _I = l l
@ Choose the' svords which are nearly opposite i ¥y —=—#— a wdw
; ¢ v opposite In : AR b :
meaning ta the underlined words : 7 mom fika
Opaque ¥ -
(A) Transparent (B) Cloudy (Amﬁﬁ
C) Hagy : {BJ HYT=IT
- (D) Blurred C) W
(C) weh (D) &y

IVVP |
als ’ ‘
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74 Frefffia i § fou anea f ot o w0 v fe |60)

75

7h

The Jaswant Thada of Jodhpur was built by
(A) Maharaja Jaswant Singh 1 -
(B) Maharaja Sardar Singh
(Cy Maharaja Hanuwant Singh
(D) Maharaja Ummed Singh
MagT F A4GT 021w i e
(A) weErTm Aty fxdm
(B) merrm s

(C) wermm eqa=aiye

(1) e aeriz

A FEmn

The highest peak in the Lastern Ghat is
1A Gurushikhar (BYy Anamudi
(L) Dodabeta (1 Mahenidragiri
74} Tz W wared fonar b -

(A) pFtimad (M) a=mH

(C) = (D) we=itft

Choose Irom the options given helow one word
tor -

someone who walks in sheep

(A) (1) Philogynist

() (D Reclose

lermagant
Somnambulist

T R
Ay qE TV AR BN
(B) i oy = R
(C)y 7+ wrf d1 7w by
(1)) "R = 2| TR o
The name ol artisan associated with blue pottery
- Jaipur is :
(A} Ahrar Ahmed (B) Rajesh Giodha
(Cy Anuradha Jongid (D) Narotam Jangid

wg Urzfl - AW B TR {iEE s A
(A) WEITT HETE (R) Trae Mm
(C) A = (1) TS A

Where is Maharaja Shree Ummaid Mills located
in Rajasthan ?

(A} Jaisalmer (B3) Jodhpur

(C) Pali (1Y) Jaipur .
serorm At T faer e 8 FE b
(A) EaT (13) eyt
(C) wret (1M =@t

IVVP | o
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|

|

i|
|
|
|
|
|
l
I
|
|

|19

81

j Mi E rovernor of
. ira 18 g
Shree, Kalra) Misl

Rajasthan.

la'uji 44 (B) 3o

I-Lv: 4“!’1 [I-}" ‘IT“I )

PR P o1 L Uk 4
(A) 44 (B) 39

(Cy 40 (D) 41

Cogiplete the sentence hy ::hc_wosing:. the correct
F;Irpnsiiinn from the choices given below :
What's the time ___ your walch?

(Y by BT in 101

€y at (D) on'th

f.IJn_:Eﬂ”' Ogctober, 2022 a peilditrian suspension
Hl'idgu collapsed in the city of Morhi in Gujarat,
itas built on which river?

li_jh Khar {B) Rupen

(@y Machchhu (D) Sabarmati

30 wEAT, 2022 F AT F ATA {8 0F 4T
uefwyi4 g a6 T, 4% feE Ad ae A T e
Ay mrh (By &9

(e oy (D) wraTsd

{T-May exposition of Haly Kapilvastu Relics of
Citd Buddha was organised by Government of
[idia in -

{A) Sri lanka (B) Malaysia

(S Thanland DY Mongolia

W gE F TiEd GigeaE] smnd & 1| Fradn
wroll il WA Wa wEE mT e T g
(A) e & (B) weAisrmn o

EC;] utEs o (D) e o

N

dPe high grade coal is -

Lﬁj Peat (By Anthracie
(G) Bituminous (D) Lignite
JW AN A FrgEn b

(A} Bz (BB) gz
(C) Frzirm (D) frmrge
™

..
5-\\'-'|11|:||| vear Desert Development Program was
aunched?

1
Fetaey fawm wedew fFs ad o mey e o7

(A} 198185 (B) 1977-78
(C) 1980-81 (D) 2001-02
o
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62

63

National Games wcre organised in |

Ahmedabad.

(A) 37th (B) 34

(C)y 35t () 36t

SENEEE A e el &1 e fa
(A) 374 (B) 349

(C) 359 (D) 36%

When the iiqliid is spun rapidly, the denser particles
remain (o ﬁy: bottom and the lighter particles stay
at the lnp.‘:’_lihis principle is used in -
(A) Filtration
(B) Centrifukation
(C) TFructional distillation
(D) Evupm'ﬂ.'tiun
v fred 2= &R @ gua = B, @ wER @ A
quT F76 & FUT TEd € | 39 Rraid & Sgan i
wrer & - ON

Pt O3
(A) <r*‘§
(B) a2 B
) iy s |
(D) gt H

L |

9[& @dl E{ﬁﬁﬁ:‘em % 997 diAn -
(A) aidfugr, (- areata
(C) aFriii{ﬁ.J () F=aF

Which of tlre, following blood groups is universal
recipient? —
frfarflad H_§ @71 @6 Y WAL Ll

Wi AB' (B) O
(C) O (D) AB™

Which of the following climate regions in
Ru_iaslhan(_ni}eix es lowest annual rainfall?
T § fefataE ey w2l § A Fem e w
afifen @t AT FT 7
(A) Aw 3
(€} ng'_j

Lo

(B) DShw
(D) BWhw

Choose an appropriate translation for the sentence
given :

She wavc\ﬂﬂonc}' for a rainy day,
_,Vi'] mrﬂ%‘ﬂﬁ & fein &R g

(R) T qiﬁsr & f’tl"ﬁ'ﬂ oy

_ N 15 i
(C) :m'-'{_r'_i’w%rﬁ W agm
(D) 38 @m? CARIUE I I o

IVVP | =ﬂ=
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In the CD-R tvpe of CD. data can be
(A) Only written once

(B) Only read once

(C) Written once. read many times
(D) Written many times, read once
CD-R w#rz &1 (D 97 221
(A) fok s ary femn Al B
(B} fﬂﬂaqmmtﬁn'ﬂlmﬁﬁr?
(C) @f arr s, wi fak v At foran 1 wE b
(D) firk v an wa, 9T &2 A fea AT

e

Rays moving parallel to the principal axis of a
convex lens after refraction passes through :
(A) Centre of curvature

{B) Principal focus

(C) Undeviated

(1) Optical centre )

g oE & RHEAF (A a9 ferul Ioe &8
oA & e AT F o

(A) = &=

(B) qea WEH H

(C) orairalda

(D) waifdre &= 4§

The Malpura-Karauli Plain is the part of -
(A) Banas lasin (B) Luni Basm
(C) Chambal Basin (D) Mahi Basin

AT 2 e R
(A) 7 2fmA @ (B) T 4l @
(Cy oad gt & (1) ard afE @

The purpose of run command in start menu 1s te-
(A) Open Svstem Lock

(B) Launch Internet Browser

(CY Start Progrims

(1) Search File

I W T anTs & own

(A) Thew @is wien

(B) zzvz gryat aern @

) T e T

(D) wiga g

Which day is celebrated as “National Uity Day’
(Rashtriva Ekta Diwas) in India?

(A) 8" October (0 15" Januan

(C) AN December (y 3 [h_'ml-.,:-r

fim o ) s o omdvg v frag & w6 s
W b7

(AM-8 FET W
(C) 4 Frmmart w1

(BY 15 AA9afy &
(D) 31 wwar ®m
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94 If 5 January 2020 was Sunday. then what will be | 99  When an error of 1% is made in the fengr.l:i of a
the day on 24™ January 20227 square. then approximate percentage error in the

(A) Wednesday (B) Sunday [ that square will be - )

(C) Monday (D) Tuesday ::ﬁﬁm i 1% o e &, @ 78 T & dawd
aft 5 sl 2020 F Faare @, @ 24 sl 2022 ﬁwﬁﬁmuﬁWWM?

F B B e 1,

(A) et (B) faamt (A) 4% L el

(7 Ha (1) wreaTt ©) 1% ' w) 207

95 Jaundice is a condition in which aceumulation of
occurs  in blood.

(A) albumin (}) elobulin .

100 fow wgx & wh fawm y= F wEe g ¥
(A) &7 - ®ar (B) fom1 — @

{C) hemoglobin (D) bilirubin (C) Faa - FaA (D) wd.— &
it v ol fafe ¥ P e A o oy
Hag B A 101 The median and mean of 15, 17, 16.7, 10, 12, 14,
i 5 = ‘ dively -
(A) TR (B) Teige 16, 19, 12 and 16 are respectivel
(C) ﬁu’qﬁm (D) Frsivsfi 15, 17, 16, 7. 10, 12, 14, 16, 19, 12 7= 16 &1
e wiftas wd wng wEs: k-
96 frfafaa § 4 few faees 8 wh b (A) 15,16 (B)y 16, 18
T 7 i (C) 16, 14 LD}""[S, 14
(A) 7, dieme, T, wE _
(3) a=wh, we, e, ey 102 Fr=fafem & & #mmr e geage &7
(CY et geEh, wied @, whu (A) Fram (B)—FTae
(C) sr=rqm (D) w%mg

(D) ®=1¢, g9d1, My, I

@D Prabha Atre (Padma Vibhushan Awardee 2022) is | 103 fawmia’ sr & fom @t il o @ ¥ ?

related to which field? (A) Disorder (R) Discrepancy
{A) Indian Classical Music {C} Discretion (D) Dismiss
(B) Sports

(C) Space Technology @ Find the odd one out :

(I}) Social Work (A) C+

vt o (9u fayeer gre fada 2022) few d= W (B) ORACLE

T £ 7 | (C) MYSQL

(A) witdra s g (D) MS ACCESS

(B) @ frew g

(Cy ofafrer Srdifmst (A) "+ (C+4)

(D) " T (B) 3t=A (ORACLE)

(C) g ard g MYSOQL
@8> Name the Pratihar ruler who not only checked the (D) tquy nﬁ?[ﬁq{gccg }
advance of Arabs but also liberated several rulers = ) 55)

from their voke.

(A) Nagabhan Il (B) Nagabhatt I 105 If the length of a shadow cast by a pole is NE}
(C) Deoraj (D) Vatsaraj L times the length of the pole, thén the angle of
Tq GPAETT aTEE &AM Tl P o Haw o & clevation of the sun is - )
anfuwe § w4 fwa VI TR @ gl W o am b

(A) 7o B (B) T NeW (A) 90° (B7730°

(C) Tt (D) aw (C) as° (D) 60°

IVVP | =ﬂ= Il [ Contd..
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26

IVVD | ={%

Which of the following statements is not true

regarding: Rajasthan State Human Rights |

Commission?

(A) The chairperson and other members are
appointed by Governor.

(B) It is & multi member body consisting of a
chairperson and two other members.

(C) The chairperson should be a retired justice of
Supreme Court. |

(D) Other members of State Human Righis
Commission can be a serving or retired judee

or magistrate of High Court or District Court. | 28

FrefafEd § @ 217 @ saa s e A |

M & AT 0 g AE R

(A) s 3 o=y wrel @ Frgfa ae w0 @
A 21

(B) 7% e 77 wawEm frem & Fre srege g &1 e
GELC LI

(C) weae Teaaw =@y S Gaiiga =
Erar #

(D) ¥ g3 353 Em dwar fae ey &
SIS gar dfde & s o wi

Which of the following string instrument is alse
known as “Bhen™?

(A} Pungi {B) Bankiya

(C) Rhungal {0} Mashak

Mefalaa @ @ fomm am da & T T FEm A
(A) i (13) =ifdEm

(C) e~ (D) m3rE

Which fort is situated on the confluence of
Ciambhin and Berach rivers?

{A) Ramhambhore Fon

(B) Kumbhalgarh Fort

{C) Tadgarh For

([ Chimtorgarh Forl

T A g Al & ET ar R e R )
(A) T fRem =
(B) Fwamm f&en

(C) =zr=ws Faesn

(D) fadEms fEa

L= M means L is the brother of A

L= N means L is the son of M,

L=M means L is the wife of M.

II. =M means 1ois the father of p,

e Dot ing me i
;;q;\ hich of the following means R the mother
L=Mat a1, M= owif 3
L—=No# s | M o CER T
L=Man st 1, M 7 gsht 3y
LM ar opef LM & feg 8

o Frfita 3 & frm o 4 7 g

(A) R=A vy |
(C) R=A+5x7 ﬁﬂ g_a‘

P g o
S+
A-S+T

|2T

29

@

3

o be drawn into a

2.2 cubic dm of brass is I then the

i . e i i T,
cylindrical wire of 0.5 em in diamete

length of the wire 15 -

56 m
(A} 448 m (B) 56
(Cy 112 m ) {DJ‘ 224 m m
’zm%ﬁxﬁﬁmﬁmn.ﬁaﬁr_mm&ﬂm 2
NEELE (B) 56
(D) 224 1

{£
L%f‘nz-ﬁ
|

h's pond eco system.
(& Small fishes

(¢! Zooplankton
ey Qs a4 4, '@d

food chain starts with -
(B) Phytoplankion

(D) Aquatic insects.
speren wreew g B -

(A) e e # (B) wraTers ¥
(ﬁ"}l W '@I’ {D} AT HELH
oy

Tha similarity between Li and Mg is due 10 —
(AY, Insolubility of lhcir_hydroxidcs

(B), Similar ionic potential

(C), High electropositive nature

(D) Similarity in the charge of their ions

Fi T Mg & 1 go=an @1 a7 & -

A) TR FEEIHEST @ Srgerenedr

‘{Hr wHE wmEtrE o

¢) wea faga weE g

(D) 5% @ & snay § wRTTT

Lr-‘) L]

"When the post of Lokayukta was l."lstahlfshed in
Rajasthan? e

U § AR B 9T w9 giad £en

(A) 1973 (B) 1992
(Cy vz (D) 1982 —
‘gl}iuh one of the following times i;illlnr season of

Fetreating monsoon?

(A) February 1o mid June

By October to mid December
ﬁ(_‘_] December o Februan
{J_l:u1 Mid June 1o September
Fr=tiane & @ @ g FTTHA Uamada o & }
(A) w7@h o gy | SN ]
(BY, 519780 9wy [oepegy

() Frverr v wrad

WS fiengy

L}

A

‘.ﬁ;:t is the name ul” the
dhtained trom Cinchong
(A Quinine

'l“. Cinchonine
PR # ure waf
(A) ﬁ'—i

(C) T=pifae

antmalarial medicine

Alropine
{I]l H"_"{]li”c

ﬂ am A | "Tl“ ’Iﬂ]g’:“
(B) uvzrirs
() Frmifas

[ Conud...
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Choose the correct Hindi translation of the
following word from the given options ;

Domicile certificate
(A) 591 yomo g

(B) 7% wamor a3

(C) amam wamr o
(p,i T e wamr gm0

) slope of the line joining A (3, 7) and B (-2, 1)

frg A (3, 7) awr B (2,1 :
v (2. 1) & fem ami e
(3 [
il -
(A) T (B) %o
6
© 3 ®) +

Which of the following converts source program
into object program?

(A) Anli Virus (B} ALU
(C) Control Unit (D) Assembler
=T H 3 o oA Wi ®) s womg o

EErn i
(A) U2 auE (B) ALU
(C) == gfwe (). ¥t

Punit goes West, he turns left, then left, again lefi
and thén right and finaly goes right. In which
direction he is moving?

(A) West (B) North

(C) South (1)) Last

e afver @ ot g &, q Il o gsan b,
arfll s ww AT g A s @A arw St od
3 # =l o awa ¥ ws fEw fren A @ o 27
(A) diyes (B) 3T

ey = (D) wd

@ Volodymyr Zelenskyy is President of -

(A) Ukraine {(B) Russia
(C) Porlugal (D) Spain
feifafre et Tufa ¥

(Y- & (B) ®W &
(C) gdma & (D) & &

IVVP | g

<

@

D

21

tra Singh was

. .embly Sumi
, au-.c.-\Sb'-“lb- :
isl in the State

Leg woman Speaker

vhich
Inv < the first

choosen as
of Rajasthan”
(A) Thirteent
(0) Eleventh

(B) Tenth
(D) Twellth
= @ gEel At fqEE a

g fiE TR Rl o
aege & @ faur & H T
(A) ad (B) =&

4 member of the State Public Service Commission
may be removed by the : 55 & )
(A) President on the basis of t[rpr_lpcachmcnl in
Parlinment.

Governor. after the inqu_[irl}j.‘clonductcd by
High Court.

President, after the inquiry conducted by the
Supreme Courl.

Governor on the basis of impeachment in the
Legislative Assembly.

T FE A A % BITE #1 U% g el ol
HE ;

(A) ®WZ % WEAT T B aeq WU & &
(I3) Twauie & BT Jed AUWIHY & Wi & 4%
(C) Trmia & & Hater e & A 6 A
(D) Faur @ % werfttn wena & qeg T 2T

(B)
(<)

©)

Which of the following is a non-impact printer?
{A) Laser (B) Daisy wheel

{Cy Dot matrix (D) Drum

™ § wH O 0F - frzg 37

Ii‘-"d"ﬂ}ﬁ (B) = I

(C) =iz vigaw (D) zm

;ﬂ'tthwn-;td of which tree is used (o make cricket
als,

(A) Mango

' (BY Acaci
(C) Willow ) Acacia

(D) Teak

P 3a1 2 vt o i e s 3
. &1 g7 797 & foro
(A) amg .

S . (B) ags

(C) e (D) 3%

Where hac ) :
1ere has g multi-product SEZ Been established

by RIICQO | -
:T\Rﬂj:ﬁﬂl;:?cn“;lhnmlmn v.'llrlj _I'T"Hhiﬂl! ra Group
Ta:
((‘}] ;:}I:_ur (B) Neemrana
=) 3 : (D) Jhalawar
w1 1 Y9 % FEAm § UASH § HEl a5iEn
AT ey TR
(C) :;qr (B) s
’ (1)) srerare

[ Cond...



Twang sector is situated in -
(A) Utrakhand
(B) Arunachal Pradesh

(C) Assam
(D) Sikkim
qam &9 fe 2
(A) TTTETE o
(B) swvmas wisn o
(C) armm W
(D) fafrr i 31
: 19 « G-."
107 1fin A ABC and A peF, 4B _BC 1G4 _ 3

DE EF =D 5’
then their-areas are in the ratio - .

ap_pe scht 3

—

A ABC am A DEF w afy

_ DE  EF r]u s’
o TFH SFFE H AT &
. , (@)
(A) 3:5 (3y9:25 N
(C) 16:25 (D) 5:3 O

TO8 ) According to the India State of Forest Rc?ﬂq 2019,
the state (Nt Union Termitory) haviglnwesl

112

113

111 Which activity is not related with the Draugh
Prone Areas ];rllgrﬂ.lﬂﬂ1l: in Rajasthan?
(A) Poverty removal .
(B) Soil and moisture conservation
(C) Water resources development
D) Afforcstation
'(-!TGTJHI'FI i g T & AT w1 T T et
w AR B
AT i frar
(B) fidt @ = & &7 HCN
(C) aql—}?mﬁ &1 faag
(D) ganamer

In Pm'-cr{;'mfnl. 1wo kind of sound eftect files that
can be added to the presentation are -

(A) jpg and .gif files
(B) .wav and .mid files
(C) .wav and pif files
(D) .wav and jpg files "
qrETaEE # 51 F7E & AE §heE HIEE
oA B - _
(A) jpe @ .pif Hrzel
(B) .wav 9 .mid FE
(C) .wav @ .gif wigel
(D} .wav T jpg R AEG

L

inrlal

Teer H WISl

Which of the following exhibits non-metallic

percentage of forest cover is - properties? !
(A) Unar Pradesh  (B) Punjab e Fretfefad § @ &W @ efas o wafifa v 7
(C) Rajasthan (D) Haryana ° ! (A} Mo (B) Al "
zfozm w2 omw wee (i 2010 & i (C) Be (D) grey ' Sn
(3 | &) FEl a1 &9 & A .
;ﬁ Sl%fiﬁf =) ) T 114 Study the following Pie-chart and answer the
TR . - = guestion - !
(C) e « (D) zTTEmm ] =
109 A bag contains ¥ 5, ¥ 2, ﬂ.nd T 1 coins in l1|1t: ratio A= PapetShsnma)
5:6:7. If the total amount is % 220, then %her of B = Advert
2 ¢coins in the bag is - _ _ ' '_j"“.“‘-"-'f“"f:l.“_'ﬂ-@f”“}
uF 8RN W 5:6:7 % agaE 4 25,32, ud 1% fe A € = Binding (amsfm)
@Eiluﬁﬁm?flﬂﬁ,ﬁﬂééfj# D = Printing (zzm)
st &1 " & - ~ I = Royalty (1ras3))
(A} 120 {Hr}/gll — F = Miscellaneous (fafm)
(C) 35 _ (D) 60 ~ B
{Expenditare chart)
110 Choose the correct Hindi translation (e =)

given below - Of‘{}]]c word

Registration CE
(A) mrqq (B) i L}J
(51.)'"4_1'[!31_{‘11 (D) Hfmy <t
‘-—-.-J

1IVVP | .:,'}:. = 1'1'

How much percent more is spent on advertisement
than that on binding?

art=1 F aman fasmE ot feaer wfqse e a@d

frm & 7
(A) 10 m(w
(C) 9 (D) 2.8

[ Contd...



127 Which one of the following agency undertook the
€xcavation work of Kalibangan?
(A)
(B)

. 128

129

130

1_{5;) 24 a9

|wm]%k

Melbourne University of Australia

The Rajasthan Department of Archacology
and Museums, Jaipur

The Archaeological Survey of India, New
Delhi

(D) Deccan College, Pune

Prefafaa & & frn s afteer 3 s % s
HE F IR G 7

(A) Wt fasafammem, sifgfrm

(C)

(C) wnda g wdem, 2 Rl
(D) == aiera, g

Which allotrope of carbon is in the form of the
geodesic dome?

(A) Carbon Nanotube (B) Graphite

(C) Diamond () Fullerene

HTET & FTAT FUET Pt qaw A eey

TEm k7
(A) =dA FH=a (B) 1wEe
(D) g

(© @
Which program helps the user 1o view different
web sites on the internet?

(A) Search engine

(B) System program

(C) Server program

(D) Browser program

7 @1 g gE # 3T 9 fane gen &
[EEH 3G § AT BT &7

(A) ®F 3

(B) feen W

(C) =T v

(D), argt W

A sum of money doubles itself with simple interest
rate in 12 years. In how many vears would it treble

itself?

(A) 36 years (B) 18 years

(C) 24 years (D) 30 years

aft ws wrafy Izﬁdﬁmmma?rﬂﬁgﬁ
ﬂwﬁr%,a’fﬂnﬁrﬁmﬁaﬁﬁﬁﬁm?
(A) 36 =d (B) 18 =

(D) 30 =4 ,
(;F” piT ] ¢ﬂ-i

g " y\*
Qi )
s

131 Change the following sentence from the active

voice to the passive voice.

We expect good news.

(A) Good news was expected.

(DY Good news is expected.

(C) Good news should be expected.
(D) Good news must be expected.

132 Complete the following figure series :

Preffea smgptr A & gl Ff

SNEH

(A)

=
o

133 Who among the following was nominated as a
representative of Rajasthan in the Constituent

Assembly of India in 19467
{A) Mohanlal Sukhadia
(B) Vijay Singh Pathik
(C) Jivraj Narayan Mehta
(D) Heeralal Shastri

frefofam o & &4 I*M-!’nmaﬁaﬁ'aﬂﬁmﬁ‘t
Tl o TrAenE # WA % =9 § e (ea T a7

(A) wTE"=na genfsar

(B) famaiae wibts

(C) == e 9261

A7 froeE swEd

b

134 If log, (x+1)=2. then the value of x is ;

2174 log, (x+1)=2, @8 x & 9 -

(A) 4 (B) 0
(€) 2 () 3

135 ‘grivn-gof’ s=@-gm & a6 ad & 9
) - (B) w&m - ufa
(C) 3u - %] (D) 9= — §m

i

136 Through which of the following districts of
Rajasthan, the tropic of cancer passes?

(A) Jhalawar (B) Jalore

(C) Sirohi (D) Banswara -
frerifea & ® TonaA & $9-9 Bt @ BT 5% T
Tt &

(A) wrTaTs (B) wmn

(C) faodt (D) =t

[ Contd...



@ The centre o

and 19] 2 wq
(A) Khedy H. Idar
(C) Sunth i

(D) Bedasn
R T @ e w w101 w1912 5

I activities of Govind Giri in 19]]
5

o
(A) @ (B) ¥zt
©) wa (D) g

16 IM ‘'CLOCK" js coded a5

"8679° then what will be
aft *CLOCK & 342
Fiea foar omd, @ ‘M
(A) 62495

L(E) 72495

@

34235" and ‘TIME" as
the code for *MOLEK ™
357 3l CTIME' @7 8679 #
OLEK" & fam %8 @t wym ?
(B) 72945 wf}g

(D) 62945
“Penganga’ is a tributary of whicl; of the following
rivers? .
(A) Mahnanadi

v . {B) Krishna
(C) Kaveri

{D} Godavari

AT Preafafta afdr o @ Formry weras wd) &7
(A) TerEd (B) gmm
(C) ety (D) e

L8 Fill in the blank with one of the correct options
from the options given below.
I's time they working on the project.
(A¥would start (B) started
(C) start (D) will

In normal conditions the number of WBC in
comparison to RBC in blood is

(A) changes now and then

{(B) equal

(C) morc

(D) less -
Tt o 3 ohrr whrael & wtm, wm wfu
BRI HT oA T

(A) WA-d9 azwdl TEa ¢l
(B) =TT vidT &1

(C) =grar zrar &

(D) @ e

120 Objective ol ‘Mukhyamantri Laghu Udhyog

Protsahan Yojana® is @ -

(A) Rcdilcing economic ||'|cq_l.l:]|![!c5

(13) Establishment of enterprises -

(C) Providing new employment opportunitics

(D) Both Establishment of enterprises and
Providing new employment opportunities

e ) o TEP AT A # IR

(A) amitiw sl & w9 wen

(B) Tuswl 1 9w

(C) T8 THMT FAHT Il HE
FueH] @ TTN T wH F4 A HAWT
TFrE FTE@HT A

121 A geostationary satellite T'»“"l"||‘-1't‘ﬁ.l;lpprnxlmmcly
at what height and in which plane

(A} 36,000 m, polar |1_TL;1|I1-: "

(B) 36,000 m, equatorid n .|r!IL ‘

(C) 36,000 k. equatorial planc

36,000 km, polar |1|:||1¢:‘ |
tD;)‘ _faare wre @ fEw Fand ot 9 few aw A

s wran B 7
(ﬁ*e_"}ﬁ,unn f, sy @
() 36,000 W, partda e
(Y 36,000 Prd), ymartdre @
(D¥ 36,000 fir, gt o
™

122 The Heading in a letter consists ¢
(%3] The subscription .
(B3 Salutation
2y, The writer's address and the date
':Hl_, The reference

of

1 ¥ ¥
“The Adaptation Gap Report 20227 is published

by

(A BRICS

(B8)y World Bank

(G) United Nations Environment Program
Py World Leonomie Forum

TEEE M frad 20220 @@yl & -
(%) Prw
+B) fasa &%
(€) Fg® T qErET wdwy
(L‘L{ faga anftfes wa -

123

a

124 Choose the correct direct speech of the following
seMence from the options given below -
H&ordered them to lock the door

(@Y. He said to them, “Lock the door.”

{LI:}"J He said to them, “Please lock the door.”

ivvr ] ok

{,[__‘.? He told them, *You locked the door.™
{‘Il He tells them. “Lack the door.™
125 Gailes which code for a pair of contrasting traits
are _ll-.lmun as -
(A) I‘»‘-Immh}'hrid (B) alleles
?thlq Leneration (D) Genotype
AT &t W v
AT ) i =
() et epy (B) welia
(CH Ty vy (L sl arey
-
[P::nE:l_‘ SYUAre is used in the study of :
{E:)} E;_LW-;En;s _ (B) Cell Biology
=) Bio-Evalution (1)) Photosvnthesis
EZEI:UT ﬁ_mﬁﬁWHEﬁuﬁEﬁ—&%?
" 6 (D) wamgr-ayeaoy
‘ [ Contd...
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137 Fill in the correet anticle.

He is not honourable man,

{A) no article | an
(C) the (D) a

138 1f sin u:—-%, then cosa is -

afs sin{nr%. T COS O H HFA p—

| C

S7 1
(jﬁ\J"‘ 3 (B) a ok
o 3
(C) — (D} o

139 In which year Chandrayaan - T was launched by
[ndia?
g od o wra J g=ae - | i ;e
(A) 2010 (B) 2007
(C) 2008 () 2009

140 How many times President Rule was implemented |

in Rajasthan?
Trave o feadl e Treafa s W fem o
(A 5 {B) 2

()3 (D) 4

{41 The sum of first S0 natural numbers is —
gem SO WA TEAIST w1 A E -

(A) 1325 {By 1000
(Cy 1200 W(D)A1275 o

.
The famous Pushkar Fair is held in which month
of the HindueCalendar?
{A) Chaitra (B) Sawan
{(C) Falgun (D) Karik
T & gt gt wer feg vam & e e

o

-

AT B 7
(A) 92 (B) wra+
(C) ww (D) i

143 ‘geaart’ ¥= A HOE &
(A) arHrTT (B) wHur@

/{/CWHE‘I (D) &=
IVVP ] oF

stem in Rajasthan was

. panchayati Raj sy R
The | . following live year

|@ . -
J under which of the

inangurate
plans?
(A) Fourth Firt
(C) Second (Dy Third . '
e B T T A w2 pm aEud
s & ofrd [ Al re

(A) T34 (B) waH

(C) f&d (D) g

5 Mow many characters arc supported by ASCII-7
coding system? 5T

a7 (ASCII-7) fer fea B Pred wtazd

(B) First

AR
(A) 256 (B) 336
(Cy 128 (D) 31273

PPresently. the number of Municipal Corporation
in Rajasthan are :

e T 8 e P ) g e
(A) 1D (B) 6

€77 (D) 9

An eye defect *Astigmatism™ occurs when :

(A) the cornea is not spherical in shape.

(B) the image of an object is focussed at a point
hehind retina.

the image of an object is focussed at o point
before retina.

(13) the eye lens hecomes cloudy.

giteEm gfwdwa @9 I A b AE

(A) wiTFan &1 sty meda T e

(B) Tt 3w @ qfarae gfegza & dey i fag we
WrHIAE BT F

ol amg n wiifea gftevem & amil fael famg
T REHA EA R

T4 WE gusr @ mE

146

(C)

LSy
()

148 33 el % aram wa won and g adi
s T8 = FE o g wEiae

AT W g A wid i

(By am mmg wmifear g

(C) o= g4 wly 7 oy

(D) @@ 2o Aa = g den 7

Total number of Gram Panchavats in Rajasthan is:

T B qargdl & Fe e ¥

(A) 13.443 (B) 10.890

(C) 12,560 +Br 11.283

| 149

150 ‘gsnfusr sr W aynd ofy 30

Fd

(A Taend aify (B) 7 Hiy
(C) gfx wfy (D) 9 =y
5
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